
Christmas dinner Puzzle 

Christmas dinner is at Zoë’s house this year. She 

invited her family (Hannah, Archie, Brody, Erika, 

Kayden, Taryn, Joshua, and Katie) to her house. Her 

father, her sister, her mother, her uncle, her 

grandmother, her aunt, her grandfather, and her 

brother all had a great time! 

 

Figure out how each person is related to Zoë. Use the 

grid opposite to help you eliminate people. 

 

 Hannah is Zoë’s aunt.  

 Erika is not Zoë’s sister. 

 Kayden is Taryn's brother. 

 Brody is Zoë’s father. 

 Katie is not Zoë’s grandmother. 

 Katie is Taryn's mother. 

 Archie is Katie's brother. 

 Kayden has no children. 

 In the afternoon, all of the men were watching 

football. Katie, Erika, Taryn, and Hannah were 

talking and not watching football. 

 Taryn is not Zoë’s mother. 
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Father x        

Mother x        

Sister x        

Brother x        

Aunt  x x x x x x x 

Uncle x        

Grandmother x        

Grandfather x        
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